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Correct these sentences. Popravi naslednje povedi. 
1 Berlin is more bigger than Dresden.
__________________________________________________________________________
2 Fruit is more better for you than chocolate.
___________________________________________________________________________
3 A plane ticket is expensiver than a bus ticket.
______________________more expensive_______________________________
4 The weather in winter is worser then in autumn.
_____________________________worse______________________
5 Germany is not so hot as Portugal.
______________________as hot as_________________________
6 The River Rhine is longer as the River Elbe.
______________________longer than________________________
7 Istanbul is more warm than Frankfurt.
________________warmer__________________________________
8 The weather in Australia is sunnyer than in Germany.
__________________sunnier____________________________________
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 1 northwest Arizona in the USA.
 2 The Colorado River.
 3 It’s six million years old.
 4 It’s 446 kilometres long.
 5 It’s 29 kilometres wide.
 6 It’s 1800 metres deep.
 7 You can go through the canyon on a raft.
 8 Yes, it is.
 9 It’s 50 ºC.
10 They’re two billion years old.
